| SEBHNSONSWEERERICASREREORR (R3.8/16 (9) ~R3.8/22(B) #),

R3.8.24
BEHbT

R B A ER 4 oA S = SHIRFRVER SHLIETIOSFRVER || sumesn MBS AER, RARARER SHLIOFRVWER | SbIanrunsz
SE | g |[EnE | SE | g | HNEnE | SE | g | HEng S| | g | MEnE | SE | g | NERE | S| | ghE | NEnE
TmE | ALRHEBE 88| 98| -10%| 45| 35[ +20%] 43| 63 -s2%|| ZER | mEmEHEALR 2] ws0%] 2] 2] ox[ 1] o] ==
ERE | sroemnsspasnrs 1 0f 0 0 - 1 0f w=mu|| #BR RETER 1 1 0% 1 0| =& 0 1] %"
EFE | amenssmasnss 6 7| -14% 0 0 - 6 7| -14% || =& REBTHEBE R 35 38| -8% 15 17| -12% 20 21| -5%
=R L& mERR 70 62| +13% 10 10 0% 60 52| +15% . RBRAHEB R 2401 240 0% 79 751 +5%| 161| 165 -2%
TEE | ETEHAR 0 0 - 0 0 - 0 0 - BHERR 16 271 -41% 8 18| -56% 8 9| -11%
WEE | LEmERAER 7 11| -36% 4 4 0% 3 7| -57% || EER HATER R 31 26| +19% 17 15| +13% 14 11| +27%
BER | BETHEHAR 6 1]+500% 4 1]+300% 2 0| =#|| RER RETENR 6 41 +50% 3 3 0% 3 1[+200%
we | AETEBR 181 14| +29% 8 8l oxw| 10 6| +67%||Fmme | FFliEpB 5 3| +67% 1 1l 0% 4 2 [+100%
HARRE | FHEHHEE 11 10| +10% 4 6| -33% 7 4] +75% || BERR | smessmaozeweensn 0 0 - 0 0 - 0 0 -
HES | sEEEER 0 0 - 0 0 - 0 0 —|| aRE | miThHEpmALR 0 0 - 0 0 - 0 0 -
FER | S\ ExHHEBER 114 73] +56% 21 10 |+110% 93 63| +48% || FHLR L EBS R 8 7| +14% 4 4 0% 4 3| +33%
FEER FENERLR 146 157 -7% 801 102 -22% 66 55| +20% || RBE IN=hEli ) 43 36| +19% 32 15]+113% 11 21| -48%
BRE HEEBS T 1,645]1,837| -10%| 791 870| -9%| 854| 967 -12%|| WHARK TEMERE 7 5| +40% 3 2| +50% 4 3] +33%
JIETTE B B 92 98| -6% 78 83 -6% 14 15 T%| | EEE REMESR 8 2 [+300% 4 0] &% 4 2 [+100%
wE)IE BEMHE B 372 354 +5%| 295| 281 +5% 17 73| +5%|| ENIR EITEA B 8 11| -27% 3 2| +50% 5 9| -44%
HEERTHR 50 53] -6% 29 36| -19% 21 17| +24% || BEEE WL B 0 1| &R’ 0 0 - 0 1| &"
RE FoRTEBER 7 11] -36% 3 7| -57% 4 4 0% || ®AIE =AENR 3 5] -40% 2 4 -50% 1 1 0%
ZLE ELTE R 4 2 [+100% 0 0 - 4 2 |+100% e BRETE R 46 551 -16% 20 28| -29% 26 271 -4%
B | £REEBR 7 2 [+250% 1 1 0% 6 1 |+500% LA TTEBE R 51 11| -55% 2 6| -67% 3 5| -40%
wHE | EHEEBR 1 0] = 0 0 - 1 o] =wml||kBe | EBEREERED 3| +33% 0 0 - 4 3| +33%
WBLE | smemmammnpas s 8 6| +33% 3 1 [+200% 5 5 onl|| REBE [ R&TEHEER 6 9| -33% 2 2 0% 4 7| -43%
EHE EHTHEEE 0 0 - 0 0 - 0 0 — || ERE REATHR 16 201 -20% 5 9| -44% 11 11 0%
T | I By A 2 1 [+100% 2 0] 0 1| =g||x28 | xo@EHEER 8 7| +14% 7 1 |+600% 1 6| -83%
- R TEL R 6 51 +20% 2 2 0% 4 3| +33% || =&HE BETIEER 13 8| +63% 7 6| +17% 6 2 |+200%
SEMTERS R 9 5| +80% 3 1 [+200% 6 4] +50%||ERER| EIREHHEKED 3 3 0% 2 11+100% 1 2| -50%
EHR | 2HEWHEBR 22 301 -27% 15 10| +50% 7 20| -65%| B2 IETEALR 0 0 - 0 0 - 0 0 -
M1 AHEECHTS MRAREEEER) Lt HAKCLS [EREE~0SANBAERAEULE] Ao = it 3,207(3,361[ -5%[1,617|1,679] -4%|1,590({1,682[ -5%
[RABBERM0ALUE] OFRE LT, REBABH SRBAHEBTFS TREDH 16D E LTWD, (£%)
M2 RENRAL = BHTMAL - HEROMA R OSBEREORZEHASD 52488 — -
3 ORFRVER=FEDOF YA BREROOER (RETEN oM, TRE%S) 2R Bl B & [3,361]2,897| +16%|1,679]1,387 +21%[1,682]1,510] +11%]|

REICHRDER
X4 EREEEOR T ANGHERICES, EEPEERUBEFRE RN EH/E,
X5 ZOHREIFERBRETH D,




